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{3 CAL of

B~ [='ham.cal"].
"ham. ob j* is generated.
yes (1) fe s
T= hamthorse_and_man (m.hoed . 187 .
m=3.
h = 1. -
Hes CAL wer@ed1
?_ Ly L] L]

B [-'lag.cal'l.

"lag.ebj* is generated.

yes

- lagrex (2+yn2, [udy=al. [x.+yl).

y = 1/2%a .

¥ = 1L/2%a .

Hﬁ.-“_-

L -

) (2) ettt & HufiifieE
= public horseandman/4. = publis exf3

1— publio lag/2.
harseandman (Men, Horses, Heads, Legs) :-
Heade = Man + Horses. ax (F. Constraint, Vars) -
Legs = Z4den + dsHorses. lag [Constraint, Lag).
dif= (Vars, F, Lag).

lag(l. 0o} = 1.

lagl [L=RICs]. Mult® (L-R) +Lag} :-
L=R;alg, !,
lag (Ca, Lag).

dife([1,_, 2 - L

difs {[Var|Vars]. F. Lagd = &,
dif [F. Var) =dif [Lag, Var) 1alg, !.
dits (Mars, F, Lag).
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B [-'cross.cal'l.
*eross.obj" is genarated.

Hes

= crossicross{a.b.x.ud.
=a.
x=5b.

yos

s (3) ZRmy

1= public cross/4.

cross(L Y, A B) :

I=H&‘l'bool =H.f 13:bool, 15 = "Y N/ [3:bool,
18 = Ia:VIabooIIS- I5 % 13:bool,
A= 14 & [1l:bool, 11 = B8 18:bool,B = 15 & [11:bool.
¥ I4
_ :}&“:1 ) a
18
I3
Ii1
I9
- D—
y > b
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ral ® 2 # (3.°3)

B [-'count.cal'l.
"eount.obj” is generated.

Hes

F= counticircuit (1.8,1,1,9,4l,u2,y3).

= public circuit/8.

cireuit(X1, X2, X3, X4, X5, V1, Y2, Y3} :=-

[1=K14&}2: bool, 12=X1"/K2:bool,  13=K3&Kd:bool,
[4=X3"/X4:bool, 1§= li:bool, [6= "12:bool,

7= "13:bool, l8= " 14:bool, 19=11%/13:bool,
110=11&13:bool,  [11=18%/18:bool, 112=16&]18:bool,

113= "Xi:bool, [14=15&12:bool,  115=1T&l4:bool,
116= "114:bool, [17= "115:bool, [18=115%/116:bool,

119=114%/117:bool, 120=114\/115:bool, 121=116%/117:bool,
122=19%1 41 28%5: bool,
[28=111&1741 58113 :bool,
124=X58118&119:bool,

[25=113&1 208121 :bool,

126=122%/110:bool, 12T=1264/123\/12:bool,
¥1=126:boal, Y= "127:bool,
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X4

X5

e

Yi=124\/125:bool.
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